
*
I ) fxtanxsecxdx

Let u= x du = dx
)

dv= tanxsecxdx
,

v = secx

Using IBP
,

fxtanxsecxdx = xsecx - fsecxdx

=  xsecx - lnlsecxttanxl t C

* 2) fsintzxcosxdx

Recall : sin Acres B = I ( sin ( At B ) t Sin ( A - B ) )

⇒ sintzxcosx = I fin Zx tSint 'zx ) )
w

W
in in

A B ATB A - B

= I ( sin Ex - sin Ix )

fsintzxcosxdx = If fsinzzxdx - fsintzxdx )

= If -

Zz . cos Zx t Zcostzx ) + C

=  -

Iz . cos Zz x t costzx t c



3) ftanxsecxdx
Let u = tan x du = see

dv = tanxsecx v = secx

Stan 'x secxdx = tanxsecx - fsec3x DX -4 )

Notice
,

also that Stan
' xsecxdx = SC sect - 1) secxdx

=

fsec3xdx - fsecxdx
⇒ fsec3xdx = ftanxsecxdx

✓
+ fsecxdx

Plugging this into ⑦
,

Stan ' xsecxdx = tanxsecx - ftanxsecxdx - fsecxdx

Zftarixsecxdx
= tanxsecx - fsecxdx

ftarixsecxdx
= Lzftanxsecx - lnlsecxttanxl ) t C

*

4) f I DX
Ttx -

Let  x = tano ⇒ FEI  = FtanT = seco

& dx = sector do

-f¥µdx=fO)(seu0dO) =ftanosecodo-se.co)

= Seco + C

= ¥2 + C



5) J F At

Let t = 53 Seco

Tts= 5%-3 =3tan2OT = 53 tano

It  = 53 tano Seco DO

J t dt  = J 53 tano . fstanosecodo

¥si#= f 3atsaenioosecodo-tzfsicos.IO .

cos "O
. too do

-

i If Sino cos Odo

y
=

tzgudu
= I (E) t C

Let  u  = Sino

du -_ cos Odo
= Ig sin ' O + C

;⇒
-

= ta + c

=

Ia + C

I DX6) J +2+4×+7

Now
,

X 't 4×+7  = x 't 4×+22+3 .

 - ⇐+232+3

|¥y×¥d× = J # dx

M¥+5



Let x -12 = 53 tano

DX = 53 seat do

⇐-25t3T= ¥20 -3T = ¥0 = 53 seco

|¥e¥
"

=

1%5%77

= f Seco do

1×+2 \
=

en Isao t tarot t C←53 = en )
FEI

( using tano =  I ) B-
t k¥1 t C

7) J 53¥ dx

Let  x = 53 Seco ⇒ dx = 53 tan O Seco do

lie . ,wso= ¥ ) and Es = M¥-3 = 53 tano

J dx =

frfztsaen.gg,

53 tano seco do

= ¥3 ftanto do = tf, f sin
' Odo( ::¥÷:÷:

.

=

Ez -

2sizn.og.es + c

Es

= Irs - sing + c

=
arc  cos ( BIX ) 5×2--3 . 53⇐ - Try

-

×r
+ C

= arcqggr3 - + C



8) f C x - 1574×-2×5 dx = fcx- i5fxxT ) dx

I + 2x - x
'

=
- ( x

'
- 2x - I ) = - ( XZ . 2x t I - Z )

= - ( Cx-15 - Zz ) = Zz - ( x - 15

JK' iffy dx = fix-it f¥c dx

= fix - I )
' dx

Let E( x - I ) = 53 Sino ⇐ x = fzz Sino + I

Lie
. sino = ¥34 - ' ) ) dx , fzzcoso do

and ¥-15 = Fu

÷÷÷
.

as

= ::L .

⇒ sing do

=

got f tatsuo do

= Ira ( o -

sing ) + c

Now ,
sin 40 = 24in20 )@ 20 ) = 2 ( 2 Sino cos O ) ( cost - sink )

#

r.cx.is/--
4 ( r"""j(3-Y - 2k¥ )

7¥ ' =

GI ( rzlx - D . EXIT ) ( 3 - 46 - 15 )



f = far ( o - sin ) + c

= far
(

arcsinrzgg-I-lqfrzcx-DEx.TT

) ( 3-44-15 ))
+ C

= Er,

arc sin 5245-12
- fzlx - 1) ( Exit ) (3-46-15)

+ c

= ftp.arcsinrzrzx-I-ezx-I- 3K ) + c

* 9) So

"

¥,pdx

Computing the indefinite integral first :

J ¥,,Td× fJ ¥n¥ ,

see Odo
= J setpseudo

x = tano

dx = see
' Odo = J setup do

✓ = fcosro do = µcos# ) do

fit = Ez t size + C

¥ ×

=

Ez + zsinucoso t C

= Iz @ otani + ¥+4 "

= I Larctanx t ) + C



Plugging in limits :

g ! = Iz Cartan 53 x Eg ) - Izfarctano t 0 )

= I + Eu )

T/3
*

to ) f tantsect at

°

Ftse

computing the indefinite integral first :

Let u = sect
,

du = tant sect dt - c s

I t.EE#dt= Sd,¥ .

Let u= tano du  = see Odo:÷÷:"÷÷÷÷÷÷÷:)
¥ "

= enlist + sect I + C

Plugging in limits :

3

= en I Itself ) + see 1331 - en I Ftse + seco )

= ent Fu + 21 - en 1ft t ' I

= en ( 55+2 ) - en (52+1)

= en I


